216ss-15 Flare Skirt

Suggested yarn:
* Pierrot Yarns Brise [69% rayon, 20% ramie, 11% polyester; 98 yds/90m per 1.06 0z./30g
skein]; color #06 green blue, 4 skeins [120g]

Tools/Notions:

+ 3.0mm (US 3) and 3.3mm (approx. US 4) knitting needles or sizes necessary to achieve
gauge

* cable needle

+ elastic thread to carry along with waistband

Finished measurements:
* waist 48cm/18.90"
+ skirt length 32.5cm/12.80"

Gauge (10cm/4" square):
* pattern stitch; 25 sts and 37 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge.
Alternatively, rework pattern with your own gauge measurements.

......................................................................................................................................

Summary
%-Note: Carry elastic thread along with yarn where indicated. Stretch it slightly as you knit with it.

Skirt (make 2): Cast on with long-tail cast-on method. Work k1p1 ribbing, then continue in pattern stitch. Work
evently spaced decreases across width of pattern stitch section (see schematic for details). When finished,
place all stitches on a stitch holder (do not bind off). After making second skirt piece, seam the two pieces
together at the sides using mattress stitch with wrong sides facing each other.

Waistband: Return live stitches to needles. Work k1p1 ribbing in the round. Work rounds 1-14 with elastic
thread carried along with main yarn. Work remaining 16 rounds, then bind off in pattern.

Finishing: Fold waistband in half towards the outside.

Abbreviations:

BO = bind off

CO=caston

OH =on hold (that is, place on stitch holder)

PU = pick up

RE = row(s) even

#-#-#-# = rows-stitches-places-times [for evenly spaced decreases across entire span of item]. For example,
1-2-3-4 means "every 1 row, decrease 2 stitches in each of 3 places across the row; do this 4 times
total."
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Skirt (make 2)
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Skil’t 3.3mm needles
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